

16)  $\frac{1}{e^z - 1}$ ,  $z_0 = 0$   $\text{Res}(f; 0) = \frac{g(0)}{h'(0)} = \frac{1}{e^0} = 1$  (since  $g$  has a zero of order 0, and  $h$  has a zero of order 1, at 0).

17)  $\frac{e^z}{(z^2 - 1)^2}$ ,  $z_0 = 1$   $\text{Res}(f; 1) = \frac{\phi'(1)}{1!}$  where  $\phi(z) = (z-1)^2 f(z) = \frac{e^z}{(z+1)^2}$ , since  $f$  has a pole of order 2 at  $z_0 = 1$ .  
 since  $\phi'(z) = \frac{(z+1)^2 e^z - e^z \cdot 2(z+1)}{(z+1)^4} = \frac{e^z(z-1)}{(z+1)^3}$ ,  $\text{Res}(f; 1) = \phi'(1) = 0$

18)  $\frac{e^{z^2}}{z-1}$ ;  $z_0 = 1$   $\lim_{z \rightarrow 1} (z-1) \left( \frac{e^{z^2}}{z-1} \right) = \lim_{z \rightarrow 1} e^{z^2} = e \neq 0$ , so  $\text{Res}(f; 1) = e$

19)  $\left( \frac{\cos z - 1}{z} \right)^2$ ,  $z_0 = 0$   $\frac{\cos z - 1}{z} = \frac{\left( 1 - \frac{z^2}{2!} + \frac{z^4}{4!} - \dots \right) - 1}{z} = -\frac{z}{2!} + \frac{z^3}{4!} - \dots$ ,  
 so  $\frac{\cos z - 1}{z}$  has a removable sing. at 0 and therefore  $\left( \frac{\cos z - 1}{z} \right)^2$  does also.  
 Thus  $\text{Res}(f; 0) = 0$

20) a)  $\frac{1}{e^z - 1}$  has singular points where  $e^z = 1$ :  $z = 2n\pi i$ , ( $n \in \mathbb{Z}$ )  
 $\text{Res}(f; 2n\pi i) = \frac{1}{e^z} \Big|_{2n\pi i} = \frac{1}{1} = 1$  (since  $g$  has a zero of order 0 at  $2n\pi i$ , and  $h$  has a zero of order 1 there).

b)  $\sin \frac{1}{z}$  since  $\sin z$  is entire,  $z=0$  is the only singular point.  
 since  $\sin \frac{1}{z} = \frac{1}{z} - \frac{\left(\frac{1}{z}\right)^3}{3!} + \frac{\left(\frac{1}{z}\right)^5}{5!} - \dots = \frac{1}{z} - \frac{1}{6z^3} + \dots$ ,  $\text{Res}(f; 0) = 1$

21)  $\frac{1}{z^2 \sin z}$ ;  $z_0 = 0$   $z^2 \sin z = z^2 \left( z - \frac{z^3}{3!} + \frac{z^5}{5!} - \dots \right) = z^3 - \frac{z^5}{6} + \frac{z^7}{120} - \dots$  so  
 $z^3 - \frac{z^5}{6} + \dots \left| \begin{array}{l} \frac{1}{z^3} + \frac{1}{6z} + \dots \\ 1 - \frac{z^2}{6} + \dots \\ \frac{z^2}{6} - \dots \\ \frac{z^2}{6} - \dots \end{array} \right.$  so  $\text{Res}(f; 0) = \frac{1}{6}$   
 OR, equivalently, set  $\left( \frac{b_3}{z^3} + \frac{b_2}{z^2} + \frac{b_1}{z} + a_0 + \dots \right) \left( z^3 - \frac{z^5}{6} + \frac{z^7}{120} - \dots \right) = 1$   
 and solve to get  $b_3 = 1$  and  $b_1 - \frac{1}{6} b_3 = 0$ , so  $b_1 = \frac{1}{6}$

22) IF  $f_1(z) = \dots + \frac{b_2}{(z-z_0)^2} + \frac{r_1}{z-z_0} + a_0 + \dots$   
 AND  $f_2(z) = \dots + \frac{b_2^*}{(z-z_0)^2} + \frac{r_2}{z-z_0} + a_0^* + \dots$ , THEN  
 $(f_1 + f_2)(z) = \dots + \frac{b_2 + b_2^*}{(z-z_0)^2} + \frac{r_1 + r_2}{z-z_0} + (a_0 + a_0^*) + \dots$ ; so  $\text{Res}(f_1 + f_2; z_0) = r_1 + r_2$ .

OR use  $\text{Res}(f_1 + f_2; z_0) = \frac{1}{2\pi i} \int_{\gamma} (f_1 + f_2) dz = \frac{1}{2\pi i} \int_{\gamma} f_1 dz + \frac{1}{2\pi i} \int_{\gamma} f_2 dz = \text{Res}(f_1; z_0) + \text{Res}(f_2; z_0)$

WHERE  $\gamma$  IS A SMALL CIRCLE AROUND  $z_0$

$$4.1 - (1) \quad \text{Let } f_1 = \frac{b_1}{z-z_0} + a_0 + a_1(z-z_0) + \dots$$

$$\text{and } f_2 = \frac{b_1^*}{z-z_0} + a_0^* + a_1^*(z-z_0) + \dots$$

$$\text{Then } f_1 f_2 = \frac{b_1 b_1^*}{(z-z_0)^2} + \frac{a_0 b_1^* + a_0^* b_1}{z-z_0} + (a_0 a_0^* + a_1 b_1^* + a_1^* b_1) + \dots,$$

$$\text{so } f_1 f_2 \text{ has a pole of order 2 at } z_0 \text{ and } \text{Res}(f_1 f_2; z_0) = a_0 b_1^* + a_0^* b_1.$$

$$4.2 - (4) \quad \int_{\gamma} \frac{1}{e^z - 1} dz \quad \gamma: |z|=9 \quad \text{SING. INSIDE } \gamma \text{ ARE } 0, 2\pi i, -2\pi i;$$

$$\int_{\gamma} \frac{1}{e^z - 1} dz = 2\pi i \left[ \text{Res}(f; 0) + \text{Res}(f; 2\pi i) + \text{Res}(f; -2\pi i) \right] = 2\pi i [1 + 1 + 1] = \boxed{6\pi i}$$

(using 4.1, #8A).

$$(6) \quad \int_{\gamma} \frac{5z-2}{z(z-1)} dz \quad \gamma: |z|=r \text{ where } r > 1$$

$$\int_{\gamma} \frac{5z-2}{z(z-1)} dz = 2\pi i \left[ \text{Res}(f; 0) + \text{Res}(f; 1) \right] = 2\pi i [2 + 3] = 10\pi i$$

(since  $\lim_{z \rightarrow 0} z \cdot \frac{5z-2}{z(z-1)} = 2$  and  $\lim_{z \rightarrow 1} (z-1) \frac{5z-2}{z(z-1)} = 3$ )

$$(9) \quad a) \quad \int_{|z|=\frac{1}{2}} \frac{dz}{z(1-z)^3} = 2\pi i \text{Res}(f; 0) = 2\pi i \cdot 1 = \boxed{2\pi i} \quad \text{(since } \lim_{z \rightarrow 0} z \cdot \frac{1}{z(1-z)^3} = 1)$$

$$b) \quad \int_{|z|=\frac{1}{2}} \frac{e^z dz}{z(1-z)^3} = 2\pi i \text{Res}(f; 0) = 2\pi i \cdot 1 = \boxed{2\pi i} \quad \text{(since } \lim_{z \rightarrow 0} z \cdot \frac{e^z}{z(1-z)^3} = \frac{1}{1} = 1)$$

$$(10) \quad c) \quad \int_{|z-1|=\frac{1}{2}} \frac{dz}{(1-z)^3} = 2\pi i \text{Res}(f; 1) = 2\pi i \cdot 0 = \boxed{0} \quad \text{since } \frac{1}{(1-z)^3} = \frac{-1}{(z-1)^3}, \text{ so } b_1 = 0.$$

(OR USE THE FUND. TH. FOR CONTOUR INTEGRALS, OR CAUCHY'S THEOREM, OR CAUCHY'S INTEGRAL FORMULA FOR DERIVATIVES)

$$(10) \quad d) \quad \int_{|z-1|=\frac{1}{2}} \frac{e^z}{(1-z)^3} dz = 2\pi i \text{Res}(f; 1) = 2\pi i \left( -\frac{e}{2} \right) = \boxed{-e\pi i}$$

$$\text{since } \frac{e^z}{(1-z)^3} = \frac{-e^z}{(z-1)^3}, \text{ so } \text{Res}(f; 1) = \frac{\phi''(1)}{2!} = \frac{-e}{2} \text{ where } \phi(z) = -e^z$$

$$\boxed{\text{OR}} \quad \int_{\gamma} \frac{e^z}{(1-z)^3} dz = \int_{\gamma} \frac{-e^z}{(z-1)^3} dz = \frac{2\pi i}{2!} \left( \frac{d^2}{dz^2} (-e^z) \Big|_{z=1} \right) = \frac{2\pi i}{2} (-e^z \Big|_{z=1}) = \boxed{-\pi e i}$$

USING CAUCHY'S INTEGRAL FORMULA FOR DERIVATIVES.

$$(13) a) \frac{(z-1)^3}{z(z+2)^3}; z_0 = \infty$$

$$\text{Res}(f; \infty) = -\text{Res}\left(\frac{1}{z^2} f\left(\frac{1}{z}\right); 0\right) \text{ where}$$

$$\frac{1}{z^2} f\left(\frac{1}{z}\right) = \frac{1}{z^2} \cdot \frac{\left(\frac{1}{z}-1\right)^3}{\frac{1}{z}\left(\frac{1}{z}+2\right)^3} = \frac{(1-z)^3}{z(1+2z)^3},$$

$$\text{so } \text{Res}(f; \infty) = -\lim_{z \rightarrow 0} \frac{d}{dz} \frac{z(1-z)^3}{z(1+2z)^3} = -1$$

$$b) \int_{|z|=3} \frac{(z-1)^3}{z(z+2)^3} dz = -2\pi i \text{Res}(f; \infty) = -2\pi i(-1) = \boxed{2\pi i}$$

$$\text{OR } \int_{|z|=3} \frac{(z-1)^3}{z(z+2)^3} dz = 2\pi i [\text{Res}(f; 0) + \text{Res}(f; -2)]$$

$$\text{where } \text{Res}(f; 0) = \lim_{z \rightarrow 0} z \cdot \frac{(z-1)^3}{z(z+2)^3} = -\frac{1}{8}$$

$$\text{AND } \text{Res}(f; -2) = \frac{\phi''(-2)}{2!} \text{ where } \phi(z) = \frac{(z-1)^3}{z}, \text{ so}$$

$$\phi(z) = \frac{z^3 - 3z^2 + 3z - 1}{z} = z^2 - 3z + 3 - \frac{1}{z},$$

$$\phi'(z) = 2z - 3 + \frac{1}{z^2}, \text{ AND } \phi''(z) = 2 - \frac{2}{z^3}.$$

$$\text{Then } \text{Res}(f; -2) = \frac{2 - \frac{2}{-8}}{2!} = \frac{9/4}{2} = \frac{9}{8},$$

$$\text{so } \int_{|z|=3} \frac{(z-1)^3}{z(z+2)^3} dz = 2\pi i \left[-\frac{1}{8} + \frac{9}{8}\right] = 2\pi i \cdot 1 = \boxed{2\pi i}$$